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Exercise 1 Find a row equivalent matriz in the standard form for the following matriz :
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Exercise 2 By using elementary row operations, find the inverse for the following matriz :

111 11 14 o o 1.4 1,1 00
2 3 2 @!ﬂa glcm {Z 2 9 «0 4 0O "”(O 1 O:,rl.«i 0
3 8 2 V2 2 220 o A O 5 -1:¢3 0 1
1.0 413 -4 0 1 o 0O 1o -6 1
“lo 4 0:-2 4 0 ~ 1 o 1 o -2 4 0
G O "159:7‘ —-'5 /‘ O O 4 nd? 5 w‘i v
- - _ -6 A
| Le L €At i1 O | -
| s -1

Exercise 3 In terms.éf the coefficients ai; of a matriz A € My(R), write down the explicit conditions

for A to be
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Exercise 4 Consider the following matriées in Ma(R): (é (1)> s <(1) (1)> , (é i), and briefly answer

the following questions:

1. Are these matrices linearly independent ? ‘YCA -, owne ' LM
. \ U
IV PO FIPTY bl I Y R P S oINS
. F 4 7 3 : i Pty = - "
t\e o 11 o 4 (@ 0 f % Ng = O
- | ‘N2 o= - Az

gf> )\4 - >\7 - /\§ = O M iéﬁ @Mgi} @@(}wiiu@mm

) o 11 00 11 ’
; 2
2. What is the dimension of Vect ((O O) , (1 1) ) <0 1)) ¢ 3

3. What is the dimension of Ma(R) ? Lt

Exercise 5 For which values of the constant k is the following matriz invertible ( don’t compute explicitly
the inverse but justify your answer) ¢
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Exercise 6 We consider the set C(R) of all continuous real functions on R. Let P : C{R) — C(R) be
the map sending any f € C(R) to Pf € C(R) with

[Pfl(x) = %(f(fﬂ) + f(~z)) for all z € R.

1. Is P a linear map ? (Justify your answer) %(@A ) Lé 0 OLtae
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2. What is Ke1 (P) ?
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3. What is Ran(P) ?
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4. What can you say about P?, with P?f = P(Pf)
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